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The TOEFL iBT Reading section includes 3 to 5 reading
passages, each approximately 700 words long, There are
12 to 14 questions per passage. You have from 60 to 100
minutes to answer all questions in the section.
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TOEFL iBT reading passages are excerpts from college-
level textbooks that would be used in introductions to a
discipline or topic. The excerpts are changed as little as
possible because the goal of the TOEFL iBT is to assess
how well students can read the kind of writing that is
used in an academic environment.

BRI R S E Y K2 MER
WMBREERNT fE—iR LERE RN E
B EA KR, B (62 ) 8 s 2
HIFTA (5 RS TEXEP HM, MR
HE ARG EE, A FE R e
SCEAT LU =Fp3ARRA . DR
PR X, Q@ ieRIXE; QI
BRI,

The passages will cover a variety of different
subjects. Don’t worry if you are unfamiliar with
the topic of a passage. All the information needed
to answer the questions will be in the passage. All
TOEFL passages are classified into three basic
categories based on author purpose: (D Exposition,
(2 Argumentation, and (3Historical.

BE—RXESNEATHEFENER
MAS [R] B £ BE sl 0 A5 HE AT MR . X
— R A N AE R R PR R
B, FEAEEBESESESH B
A R BRSSO F
B SCEESEF KB LU IUFh .

(1) &2k

(2) HESTH

(3) FRRE/EER

(4) (BRI

Often passages will present information about the topic
from more than one perspective or point of view. This is
something you should note as you read because usually
you will be asked at least one question that allows you to
show that you have understood the general organization
of the passage. Common types of organization you
should be able to recognize are

(1) classification

(2) comparison/contrast

(3) cause/effect

(4) problenv/solution

-1-
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TOEFL iBT passages are approximately 700 words
long, but the passages used may vary somewhat in
length. Some passages may be slightly longer than

CEEA] BERTH A T700i 700 words, and some may be slightly shorter.
LR L % A % A SR B HAE | TOEFL iBT Reading questions cover Basic

BRGES . HHT A EHEEAYRE T LA
PR SN AR . Hrp
H10F BRI H o B e B
H 2R B 2T -

(1) FIFEE (3~6/)

(2) BEFIL[FBHM (0-2)

(3) #EHE (0~2/8 )

(4) BEHBE (0-2)

(5) ACE (3~581)

(6) F{LE (0~21)

(7) ‘) FRfeE (0~17)

(8) XAHEAM (0~17%)

(9) XEANE/NGE (0~178 )

(10) SERLERFEE (0~178)

Information skills, Inferencing skills, and Reading
to Learn skills. There are 10 question types. The
following chart summarizes the categories and types
of TOEFL iBT Reading questions.

(1) Factual Information questions (3 to 6 questions
per set)

(2) Negative Factual Information questions (0 to 2
questions per set)

(3) Inference questions (0 to 2 questions per set)

(4) Rhetorical Purpose questions (0 to 2 questions
per set)

(5) Vocabulary questions (3 to 5 questions per set)
(6) Reference questions (0 to 2 questions per set)

(7) Sentence Simplification questions (0 to 1 question
per set)

(8) Insert Text question (0 to 1 question per set)

(9) Prose Summary questions (0 to 1 question per set)
(10) Fill in a Table questions (0 to 1 question per set)

FEHRBA AR

N %:‘f‘iﬁ EI_E

AL RALEETSAT B TOEFL, SAT, GMAT, GRE#iK, ifJ&2 [ SIHF K2l
MIELTS %X, f—Fh% X aril A#RA HahZ A% 0. fln, 7ETOEFLE A,
ETS{ii[a] F Ftransform . convert, reviseiX =/MaljL & #[R] id “change” , MZEIELTS
i, A A ) 1848 Fshift, modify, alteriX =/Ma3E## “change” . il Fifl
# | F44 <> — T TOEFL B % i A i A 42

[ 1]

Like their farming neighbors, rural artisans
were part of an economy seen, by one
historian, as “an orchestra conducted by

[ B2 ]

In 1929 the United States motion picture
industry released more than 300 sound
films—a rough figure, since a number were
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nature.” Some tasks could not be done in the
winter, others had to be put off during harvest
time, and still others waited on raw materials
that were only produced seasonally. As the
days grew shorter, shop hours kept pace,
since few artisans could afford enough
artificial light to continue work when the
Sun went down. To the best of their ability,
colonial artisans tried to keep their shops as
efficient as possible and to regularize their
schedules and methods of production for
the best return on their investment in time,
tools, and materials. While it is pleasant
to imagine a woodworker, for example,
carefully matching lumber, joining a chest
together without resort to nails or glue, and
applying all thought and energy to carving
beautiful designs on the finished piece, the
time required was not justified unless the
customer was willing to pay extra for the
quality—and few in rural areas were.

It can be inferred from the passage that the
use of artificial light in colonial times was

A. especially helpful to woodworkers.

B. popular in rural areas.

C. continuous in winter.

D. expensive.

Q19
IEBRZE S NDIETN, BT i expensiveXit i
R4 few artisans could afford, AT
e R=RE TIREANE,

silent films with music tracks, or films
prepared in dual versions, to take account of
the many cinemas not yet wired for sound.
At the production level, in the United States
the conversion was virtually complete by
1930. In Europe it took a little longer, mainly
because there were more small producers for
whom the costs of sound were prohibitive,
and in other parts of the world problems with
rights or access to equipment delayed the shift
to sound production for a few more years
(though cinemas in major cities may have been
wired in order to play foreign sound films). The
triumph of sound cinema was swift, complete,
and enormously popular.

Which of the following accounts for the delay

in the conversion to sound films in Europe?

A. European producers often lacked knowledge
about the necessary equipment for the
transition to sound films.

B. Smaller European producers were often
unable to afford to add sound to their
films.

C. It was often difficult to wire older cinemas
in the major cities to play sound films.

D. Smaller European producers believed that
silent films with music accompaniment
were aesthetically superior to sound films.

[ Wi )

IEWEFEANBHED, % H Aunable to
afford Xt i 3C H %l £k # 43 costs of sound
were prohibitive, EAFE=ATR G # .

METE AT ERATAT AR, PERE B e —, BIRAET s

E=kAE" X2

[ 513 ]
The Women of Mexico City, 1790-1857, Sylvia
Marina Arrom argues that the status of women
in Mexico City improved during the nineteenth

[ B4 )

Picking up a tributary of the Columbia
River, they continued westward until they
reached the Pacific Ocean, where they
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century. According to Arrom, households headed
by females and instances of women working
outside the home were much more common than

holars ha imated; efforts by the Mexican
government to encourage female education
resulted in increased female literacy; and influential
male writers wrote pieces advocating education,
employment, and increased family responsibilities
for women, while deploring women’s political and
marital inequality. Mention of the fact that the civil
codes of 1870 and 1884 significantly advanced
women’s rights would have further strengthened
Arrom’s argument.

It can be inferred from the passage that Arrom would

agree with which of the following assertions?

A. Efforts by the Mexican government to
encourage education for women during the
nineteenth century were hampered by the
economic instability of that period.

B. The most significant advances in the rights
of Mexican women during the nineteenth
century occurred prior to 1857.

C. Improvements in the status of women in
Mexico City during the nineteenth century
were accompanied by similar improvements
in the status of women in other large Latin
American cities.

D. Scholars have in the past underestimated the
number of households headed by females in
Mexico City.

[ 2 ]

IEHERADED, ®EHMH B
underestimated X i 3L H R £ # 4 more
common than scholars have estimated, 2%
A B R L =i eIk

stayed until the following spring. Lewis and
Clark brought back much new information,
including the knowledge that the continent
was wider than originally supposed. More
specifically, they learned a good deal about
river drainages and mountain barriers. They
ended speculation that an easy coast-to-coast
route existed via the Missouri-Columbia
River systems, and their reports of the
climate, the animals and birds, the trees and
plants, and the Indians of the West—though
not immediately published—were made
available to scientists.

It can be inferred from the passage that prior
to the Lewis and Clark expedition the size of
the continent had been

A. of little interest

B. underestimated

C. known to native inhabitants of the West
D. unpublished but known to most scientists

[ R ]
IERRZS S BIET, 5 fjunderestimated
Xf 7 SCHRI|Z 8 1was wider than originally
supposed. H—FFUAAESAE Fi=id o0 {RAY .

[ ETPTIE R H A R A, el AR AR TR BB TR =t R A .

= KEARERZE

FERRA R A TR RE ST A0 1, 5 A Xl /i) A 5 2 ) ) B A RS R AR B T L)
FEOMRBL I A S B BERE S B IR BRI TEFEAR B SC e b, MR 2 K ik
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1. 3329

[ Bi1)

Among the reasons for the decline of New England agriculture in the last three
decades were the high cost of land, the pressure of housing and commercial
development, and a marketing and distribution system based on importing produce
from Florida and California.

[ weim ]

E1%64), IEWAIIEFE: The high cost of land, the pressure of housing and
commercial development, and a marketing and distribution system based on importing
produce from Florida and California were among the reasons for the decline of
New England agriculture in the last three decades. ¥ 1% 35113/~ F474
B4R, B the high cost of land, (@ the pressure of housing and commercial
development, (3) a marketing and distribution system based on importing produce
from Florida and California.

[ 8L ]

distribution: 43771, 43¥iC
produce: =i

[89iF ]

TESS R0 R, et 2 R ER A RIS . THIAE, (EEMRL
KIRBIEST, DA MO 27 LA AN AR e S 1 AR 7 i B B 85 AR i
AR R

[ B2 ]

Developing nations in various parts of the world have amassed $700 billion in debts;
at stake, should a significant number of these debts be repudiated, is the solvency of
some of the world’s largest multinational banks.

[ w2 ]

SRR R EERGHY, EEJSHIEFRLA : If a significant number of these
debts should be repudiated, the solvency of some of the world’s largest multinational
banks is at stake.

[ i@ ]

amass: LR, RHE
at stake: fE&
repudiate: 4
solvency: £{-HE 1

[#ig ]

TR R R EFK LR T 7000{ZETTHIf S ; AR s E SR H
g;ﬁ%ﬁ%%iﬁ, R ERR B LK ES R AT R A A e SR B
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2. BERE

An array of tax incentives has led to a boom in the construction of new office
[M1] |buildings; so abundant has capital been for commercial real estate that investors
regularly scour the country for areas in which to build.

So---that--- [EEFE AL, AAMG----- PAZR Frosnnes , AR A TR R A
[ ##f ] | (IE# 1B/ M capital has been so abundant for commenclal real estate that investors
regularly scour the country for areas in which to build.

an array of: —#f, —#it
incentive: 2 Jilj

(L) boom: K&, ER
scour: {#%&, il
[ 8z ) — RN HIBORIEA R TS S TN R TRl = &2 it

Z Z U E TR R EHE V2 4 1ok FHRESUHM.

Reformers in the Northern states put so much pressure upon the Congress not to
[BI2] | extend slavery to territories destined for statehood that some of the southern states
wanted to secede from the United States.

So---that-- B EH A, @t ------ LLETF e , sog| A RIEH
[ Wi ) ( much pressure upon the Congress not to extend slavery to territories destined

for statehood ) , that5| SN RZE5HE (some of the southern states wanted to
secede from the United States ) .,

territory: 45+
[i83C ] | slavery: WSl
destine: fipiz

FEALTTIREEIH Fy b (T TSR [ S AN B R BE Y KB AR LR (o M
[@iF ] | B flfil%ESRN T aREE S, LBCT Bk — A ZLR 3 F)
IS AR

3. BLE

It is significant that the earliest living things that built communities on these islands are
[ BI%0 ] | examples of symbiosis, a phenomenon that depends upon the close cooperation of
two or more forms of life and a principle that is very important in island communities.

[ W2 ] A phenomenon#fla principle & B~ %1 1 R4 15 B4, i’«ﬂﬁ*’i’fﬁ I T )
symbiosis,
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[ 813C ] | symbiosis: Fe4-2

55 B PR L R S T A E R AR E RN, AR — KR
[ B0 ] | FREmRl L A R SR A IS, RS AR R
f—IA B o

4. SFSIHRD

[ H1%0 ] Many signals that animals make seem to impose on the signalers costs that are
overly damaging.

i) F T Amany signals seem to impose on the signalers costs, #5—{~that
[ @#f ] | (animals make) HEEM], Eiffisignals, 55— that (are overly damaging) A1 &
BN, BHficosts,

[ #813C ] | impose on: jiiifi

[80ig ] | sk hESATRERA BN A SrRAER RIHiE .

5. L7454

A new study proposes a significant increase in the capacity of towns and cities through a
[Bl1] | combination of increased housing densities, lower on-plot provisions for cars and more on-
street parking, and the re-use of marginal open space that is “devoid of any amenity value”.

FAIEE BhiAlpropose/a F13 M A AT EIBLLK, RID a significant increase
[ Wi | in the capacity of towns and cities through a combination of increased housing

densities, (2) lower on-plot provisions for cars and more on-street parking, 3 the
reuse of marginal open space that is “devoid of any amenity value”,,

devoid: =
amenity: {8 |15

— IR RIS kil A & A B R 7 ZORKIIE IR AR, I
[@iF ] | OLHEFXTENEAEEX, DRERF AR A R SURRARMME
IS Lo

[ ia)3C ]

And so, today, as the choice of which food plants to cultivate in Australia has been
[ H12 ] largely decided, and as there is little chance of being lost for long periods in the bush,

our interest in the subject of Australian food plants tends to relate to natural history
rather than to practical necessity.




AndiE A Hast | S H9F551F47434], B And so, today, as the choice of
[ 247 ] | which food plants to cultivate in Australia has been largely decided, @ as there is
little chance of being lost for long periods in the bush,

[83C ] | cultivate: Fif, B53F

T B AR SRR R KRR e EE T, THHTAKTRE
[8iF ] | ARKWEE THRES MY OREEY) ) , Fitk, BHERNTN TR EEY
DR DGER ) TR s AR G, MHESERRR 2.

=. PIFENERKIEERES TR

B, ARYERE T B(E BB AR SC, R E O sS40 for example25244liA], R
L IEHA25 38— %€ 7 for exampleRi A BE, B2 Zokam H BUER] F 2 Al

$/ o)

These changes in outlook deeply affected the musical culture of the Renaissance period—how
people thought about music as well as the way music was composed, experienced, discussed,
and disseminated. They could see the architectural monuments, sculptures, plays, and poems
that were being rediscovered, but they could not actually hear ancient music, although they
could read the writings of classical philosophers, poets, essayists, and music theorists that
were becoming available in translation. They learned about the power of ancient music to
move the listener and wondered why modern music did not have the same effect. For
example, the influential religious leader Bernardino Ciri Xpr disappointment with
the learned music of his time. He urged musicians to follow the example of the sculptors,
painters, architects, and scholars who had rediscovered ancient art and literature. The musical
Renaissance in Europe was more a general cultural movement and state of mind than a
specific set of musical techniques. Furthermore, music changed so rapidly during this century
and a half—though at different rates in different countries — that we cannot define a single

Renaissance style.

According to the passage, why was Bemardino Cirillo disappointed with the music of his
time?
A. Tt was not complex enough to appeal to musicians.

B. It had little emotional impact on audiences.

8-
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C. It was too dependent on the art and literature of his time.

D. It did not contain enough religious themes.

s [ WA ]

MR T 1 s e AL B FE S, A LATE L s 4b & Bl for example, IR ATHE for
exampleRi T YN A FHRE S, EMREFENBET, K5+ Aemotional impactE i i 3L
fJmove, I H [¥audiencesEr 4 i S ¥ listener

Q [ B2 ]

A third fossil formation containing both soft-bodied and hard-bodied animals provides
evidence of the result of the Cambrian explosion. This fossil formation, called the
Burgess Shale, is in Yoho National Park in the Canadian Rocky Mountains of British
Columbia. Shortly after the Cambrian explosion, mud slides rapidly buried thousands
of marine animals under conditions that favored fossilization. These fossil beds provide
evidence of about 32 modern animal groups, plus about 20 other animal body forms that
are so different from any modern animals that they cannot be assigned to any one of the
modern groups. These unassignable animals include a large swimming predator called
Anomalocaris and a soft-bodied animal called Wiwaxia, which ate detritus or algae. The
Burgess Shale formation also has fossils of many extinct representatives of modern
animal groups. For example, a well-known Burgess Shale animal called Sidneyia is a
representative of a previously unknown group of arthropods (a category of animals that

includes insects, spiders, mites, and crabs).

Sidneyia is an example of

A. arelative of Anomalocaris and Wiwaxia

B. a previously unknown Burgess Shale animal

C. an extinct member of a currently existing category of animals

D. an animal that cannot be assigned to any modern animal group

. (wii)

FRHE R i Bt im) e AL B RS, AT DATE 207 s 4b % Pl for example, PR (i 17E for
exampleRij [ KN A FHRER, IEFZEFEHCHEI, %I H fcurrently existing category
of animals# )5 3 f¥Y/modern animal groups.

—9_
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« BEiLREEE

fEFERR b R, EICE SR TR SRS E BRI BRI LR, B AR AR AEREAR
AR X —MESE, BOTFhAR B IE R 546 . Sl % AR AR i e, K
MI&B, Blmamiail i Z L, Fan, abundant (FEH, KEK) XNEJLFLE
RHERFERE SRR A B, XTI IERMET 43508 “substantial, ample. affluent.
considerable. enormous. tremendous. large amount, large numbers” . A] WLAKS7 #1751 —

AHRREAR, TER R EIUANC KR G, A RN AR .

L AT

The prevailing winds in the Great Basin are from the west. Warm and moist air from the

Pacific Ocean is forced upward as it crosses the Sierra Nevada.

The word “prevailing” is closest in meaning to which of following?
A. most frequent

B. occasional

C. gentle

D. most dangerous

IEHESR: A

Q [ B2 ]

Secular institutions of control such as the police and army take the place of religion and family
in maintaining order, and a money-based economy prevails. Because of these contrasts,

“popular” may be viewed as clearly different from “folk” .

The word “prevails” is closest in meaning to which of following?
A. dominates

B. provides

C. develops

D. invests

IERIESR: A

8§/ tmis)

Their light was already halfway here before the Earth even formed. The light from the nearby

-10 -



